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[DateTime A7z 7D YERL]
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[TELFDI— F(XDateTime A IS5 FEERT AF-0DHF 2 TILTT
It is currently {DateTime}.

The first day of the 21st century is
{DateTime “01/01/20017}.

The last day of the 20th century is
{DateTime year=2000, month=12, day=31}.

Golf was last played on the Moon
{DateTime “2/6/71 7:12:22 -0500"}.
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[TEARD3— KidDateTime ZXFIN~EBRT BF-HDH 2 TILTT
{let :DateTime =
{DateTime “2/6/71 7:12:22 -0500"}

}

| |RITHREEHER LTS

Golf was last played on the moon on {value moon-golf. info. locale-date} at
{value moon-golf. info. locale-time}.

To be specific it was {value moon-golf}.
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[TELFD— Fi&DateTimelnfo 7 5 R &>~ JILTT
{let :DateTime = {DateTime}}

|| =THEERRAL T EEL

Today is {value now. info. locale-full}
(that is

{value now. info. locale-weekday}

the {ordinal now. info. day} day

of the {ordinal now. info.month} month
({value now. info. locale-month})

of the year {value now. info. year}

at {value now. info. locale-time} {value now. info.timezone-name}).

It is the {ordinal now. info. day-of-year} day of the year, which
is the {ordinal now. info.day-of-week} day of the week, called
{value now. info. locale—weekday}.
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{let :Time = 23479233seconds}

{let :Time = 232643minutes}

{let :Time = 83. 343hours]}

{let ‘Time = some-seconds + some—-minutes + some-hours}

| |RITHRERRBL TS
The total time is {value total-time / 1day} days.
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IIIJT(D:I— FiXDateTime MMAEEIZRET 5H 2 TILTT
{let :DateTime = {DateTime}}
{let :Time = . 5hour}

| |RITHREEHER LTS

If you want to leave in {value leave-in / 1s}
seconds, set your alarm for

{value (now + leave-in). info. locale-time}.
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Y7 IIa—F
{let :DateTime = {DateTime}}

| |[IAF D a— KidDateTimes S AN A A MEREEITI>ODY Y TILTS
{let :DateTime = {DateTime now, day={value now. info.day + 80}}}
|| RITREREHRL TS .

If you left on an eighty-day around the world trip today,

you' d get back on {value returnday. info. locale-date}

Midnight of the last day of the previous month was
{value {DateTime day=0}. info. locale—full}
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DateTime. elapsed Ay FIZTERIBTEET
{let :DateTime = {DateTime hour=24}}

| BITREREFHRAL T ESN
t will be tomorrow in
v

|
|
{value —{midnight. elapsed} / 1hour} hours.
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[TUATOI—FEBEF ERAUDEEKICET 2 TILTT

{let :DateTime = {DateTime}}

{let :DateTime = {DateTime now, hour=7}}
{let :DateTime = {DateTime now, hour=12}}
{let :DateTime = {DateTime now, hour=20}}

|| =THEERERL TS
{if {breakfast. compare now} < 0 then
{text You missed breakfast.}
else
{text
Breakfast is in
{value —{breakfast. elapsed ending=now} / 1hour} hours.}

{if {lunch. compare now} < 0 then
{text You missed lunch.}
else
{text
Lunch is in
{value —{lunch. elapsed ending=now} / thour} hours.}

{if {dinner.compare now} < 0 then
{text You missed dinner.}
else

{text
Dinner is in
! {value —{dinner. elapsed ending=now} / Thour} hours.}
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